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Thanks for purchasing techXams’ Study Guide, 
 
techXams’ 000-349 study guide is a comprehensive compilation of questions and answers that have 
been developed by our team of certified professionals. In order to prepare for the actual exam, all 
you need is to study the content of this guide. An average of approximately 10 to 20 hours should be 
spent to study this guide and you will surely pass your exam. It’s our guarantee. 
 

Disclaimer 
Neither this guide nor any material in this guide is sponsored, endorsed or affiliated with any of the 
respective vendor. All trademarks are properties of their respective owners. 
 

Guarantee 
If you study this guide properly and still unable to pass the exam, please send us a scanned copy of 
your official score at: refund@techeXams.ws. We will happily reimburse the cost of this study guide 
or send you an exchange of study guide of your choice free of cost. 
 

Feedback 
If you find any possible improvement, then please do let us know. We are always interested in 
improving the quality of this product. Feedback can be send at: feedback@techeXams.ws 

 
Copyright 
techXams holds the copyright of this material. techXams grants you a limited license to view and 
study this material, either for personal or commercial use. Unauthorized reproduction or distribution 
of this material, or any portion thereof, may result in severe civil and criminal penalties, and will be 
prosecuted to the maximum extent possible under law.  
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Question: 1  

Out of all the available settings for the location of the workspace, which one of the 
following is the most optimal setting for performance when processing small transactions 
such as MQ messages?  

A. Workspace = File  
B. Workspace = Burst  
C. Workspace = Memory  
D. Workspace = Page  

 
 
 
Question: 2  

Which of the following statements are true of a component rule? A component rule:  

A. is used to create output.  
B. is used for data validation.  
C. is always evaluated even if an optional component is not present in the data.  
D. can refer to any other component in the component list.  

 
 
 
Question: 3  

Complex objects in a data stream:  

A. are binary  
B. contain other objects  
C. must be in a choice group  
D. contain special characters  

 
 
 
Question: 4  

Which statement about syntax items is true:  

A. They must have a restriction list.  
B. They have a maximum length of 1 byte.  
C. The value must come from the input data.  
D. They cannot be used as variable initiators.  

Answer: C  

Answer: B, C  

Answer: B  
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Question: 5  

The size of an object defined as a text item in a type tree:  

A. is set to zero if the item is an optional component.  
B. includes initiator, terminator, and release characters.  
C. excludes initiator, terminator, and release characters.  
D. requires that pad characters be counted when determining the maximum size.  

 
 
 
Question: 6  

The example below shows 3 records of a file. Each record is terminated with a <NL> 
character. The file is not limited to a specific number of records. CMS Business Systems 
S30093467390212200815AN<NL> CMS Business Systems 
S40073617390628200817NN<NL> CMS Business Systems 
S40073617390628200817NN<NL> The type tree has been constructed with two groups 
named File and Record. Select the options that best define the format and component 
syntax properties for the two groups:  

A. The File component is defined as Format = Explicit and Component Syntax = Fixed; the Record 
component is defined as Format = Explicit and Component Syntax = Fixed  
B. The File component is defined as Format = Explicit and Component Syntax = None; the Record 
component is defined as Format = Explicit and Component Syntax = None  
C. The File component is defined as Format = Implicit and Component Syntax = None; the Record 
component is defined as Format = Explicit and Component Syntax = Fixed.  
D. The File component is defined as Format = Implicit and Component Syntax = Fixed; the Record 
component is defined as Format = Implicit and Component Syntax = None  

 
 
 
Question: 7  

What is the primary difference between a choice group and a partitioned group?  

A. A partitioned group can contain both items and groups as components, a choice group can 
only contain groups as components.  
B. A choice group can have both items and groups as components, a partition group can only 
have groups as subtypes.  

Answer: A  

Answer: C  

Answer: C  
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C. A partitioned group requires that data must be distinguishable; a choice group does not.  
D. A choice group requires that data must be distinguishable, a partitioned group does not.  

 
 
 
Question: 8  

Refer to the Exhibit. A large corporation manufactures beds in different colors. The 
inventory file consists of three record types, a header, a detail, and bed color. The record 
type is the first byte of each record (H=Header, D=Detail, C=Color). If there is an error in 
one of the bed color records, all of the color records under that detail record should be 
ignored. How do you specify that all color records should be ignored if one is found to be 
invalid?  

 
 
A. Use the restart attribute on the detail record  
B. Use the restart attribute on the color record  
C. Use the restart attribute on the header record.  
D. Use the restart function in the map.  

 
 
 

Answer: B  

Answer: A  
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